[image: ][image: ]HW4 										106060012陳品諼


[bookmark: _GoBack]








[image: ]Kittler.m






[image: ][image: ][image: ][image: ][image: ][image: ][image: ][image: ]
image7.png
0 50 100 150 200 250





image8.png
Rloop.raw x10% L EUQ QMR

50 100 150 200 250





image9.png
linsfN.raw

x10*

6

4

2

0

0 50 100 150 200 250
%105 2,





image10.png
By Kittler

6000

4000

2000

100

150

200 250





image11.png
ler.raw A,EM@ QG

4000

2000

0 50 100 150

By Otsu

By Kittler





image1.png
14

15

16 —
17j=
18 —
19 —
20 —
A=
=]
23

24

25—
26 —
=]
28 —
29—
30 —

%By Otsu

%0tsu's method chooses a threshold that minimizes the intraclass variance of the thresholded black and white pixels.

level = graythresh(Y) ‘%computes a global threshold level from grayscale image Y. The threshold is normalized to the range [0, 1].
subplot(3,2,3);

BW = imbinarize(Y,level); %#Convert the image into a binary image using the threshold.

imshow(BW)

title( 'By Otsu');

subplot(3,2,4);

histogram(BW);

By Kittler
subplot(3,2,5);

YK = kittler(Y);
imshow(YK)

title( 'By Kittler');
subplot(3,2,6);
histogram(YK);
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m=100; n=100;

fin=fopen( 'ler.raw’, 'r');
¥=fread(fin,m*n, 'uint8=>uint8'); fclose(fin);
Y=reshape(X,m,n);

Y=y

figure;

subplot(3,2,1);

imshow(Y)
title('ler.raw');
subplot(3,2,2);
histogram(Y);
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function bw = kittler(I)

h = imhist(1); % Compute the histogram
g = (0:(length(h)-1))";

C = cumsun(h);

M = cumsum(h .* g);

S = cumsum(h ¥ g.42);

signa_f = sqrt(S ./ C - (M./C).72);

Cb = Clend) - C;

Mb = M(end) - M;

Sb = S(end) - S;

signa_b = sqrt(Sb ./ Cb - (Mb./Cb).*2);
P=C ./ C(end);

V=P % log(signa_f) + (1-P).*log(signa_b)

V(~isfinite(V)) = Inf;

[~, idx] = min(V);

T = g(idx);

bw=imbinarize(1,T/255); % Convert to Binary
end

- P.*¥log(P) - (1-P).*log(1-P);
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